Class No. : ' SFE 26

Name : .....oeerererireeeneeceenseersenns
SECOND YEAR - FIRST TERMINAL EVALUATION 2019—20_20
Part — III Time : 2 Hours
BIOLOGY Cool-off time : 20 Minutes
(Botany & Zoology) Preparatory Time : 5 Minutes
Maximum : 60 Scores
- , . ™
General Instructions to Candidates 5

® There is a *‘Cool-off time’ of 10 minutes each for Botany and Zoology in addition to
the writing time of 1 hour each. Further there is a °5 minutes’ ‘Preparatory Time’ at
the end of the Botany Examination and before the commencement of Zoology
Examination,

Use the ‘Cool-off time’ to get familiar with questiens and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A

BOTANY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
L. Answer any 3 questions from 1-5. Each carries 1 score. ‘ Bx1=3)

1. Choose the correct answer,
DNA fragments with same kind of sticky ends can be joined by :
(A) Ligase (B) Endonuclease
(C) Exonuclease (D) Polymerase

2. Observe the relationship between the first two terms and fill in the blank.
Intine : Cellulose and pectin;

Exine :

3. Observe the figure given below. Identify the structure.

4. Choose the correct answet,
Which one of the following is not a vegetative propagule ?
(A) Bulbil : (B} Pitcher
(C) Offset (D) Tuber

5. Fillin the blank.

Kalyan Sona is a semi-dwarf variety of
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PART - A
BOTANY
(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes
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IL  Answer any 9 questions from 6-16. Each carries 2 scores. Ix2=18)

6.  Certain floral features that help for pollination are given below.
*  Flowers are colourful and rich in nectar.
¢ Pollen grains are dry and non-sticky
~®  Pollen grains are protected from wetting by a mucilaginous covering.
¢ Feathery sti gma.'
®  Polien grains are sticky.

Choose the features of wind and insect pollinated flowers from the above.
7. Explant and fotipotency are two terms related to tissue culture. Explain the two terms.

8. Analyse the table given below and fill in the blanks :

Name of Chromosome Chromosome
Organism number in number in
meiocytes gametes
(a) 46 23
Rice 24 (b)
Apple {c) 17
Onion 16 (d)

9.  The cutting of DNA at specific locations became possible with the discovery of
restriction enzymes. Explain the method of naming of these enzymes.

10.  Define microsporogenesis. Write the ploidy of microspore.
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11. Analyse the table given below and fill in the blanks.

13.

14.

15.

16.

( Peculiarity W Name
(A) (B)
Stalk of the Ovule (a)
[?lg) Nucellus
Protective envelopes of the ovule (€)
Junction between Ovule and Funicle (d) J

Observe the events given below

Eﬁbrygggesis, Gametogenesis, Syggamgl

Choose a post-fertilisation event from the above

In some plants residual, persistent nucellus can be seen.

Mule is produced through a particular type of cross. Name

and define it.

Name this kind Qf nucellus.

Give an example of a seed that contains this kind of nucellus.

that cross. Define that cross.

In certain seeds, more than one embryo can be seen. Name this condition and give an

example.

Spirulina is a SCP.
(a) Expand SCP.

(b) Howcan Spirulina be grown ?
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IIL. Answer any 3 questions from 17-20, Each carries 3 scores. 3x3=9)
17.  Maintenance of hives of honeybees for the production of honey is called bee-keeping.
(@) Give the technical term for bee-keeping.

(b) Write any four points that are important for successful bee-keeping.

18. Observe the figure given below.

(@) Explain the processes that lead to the formation of A and B in the figure. .
(b) Label the part C.

19. Fertilisation may be external or internal.
(@ Write the difference between the two types of fertilisation.
(b) Write the disadvantage of external fertilisation.

(c) Give an example of an organism that shows external fertilisation.

20. Continued self pollination result in inbreeding depression. So flowering plants have

developed many devices to discourage self pollination. Write any three such devices.

SFE 26 8
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PART-B

ZOOLOGY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
L Answer any 3 questions from 1-5. Each carries 1 score. Bx1=3)

First menstruation is called

The plant used by Mendel for his hybridization experiments is

genetic disorder is aiso known as trisomy of 21.

is a new oral contraceptive for females developed at Central Drug Research

W=

Institute.
5. Which among the following is a chromosomal disorder ?
(A) Colour blindness
(B) Tumer’s syndrome
(C) Haemophilia
(D) Phenyl ketonuria

Il.  Answer any 9 questions from 6-16. Each carries 2 scores. (x2=18)

6. (a) Expand MTP. -
(b) During which stage of pregnancy, MTP is safe to be carried out ?
(¢) Gynaecologists prefer MTP on which circumstances ?

7. Is the sperm or the egg rés;;onsible for the sex of the chicks ? Substantiate.

8.  Match column ‘A’ with appropriate terms in column ‘B’,
A B
(i) Copper releasing IUD (a) Test tube baby
(i) Hormone releasing IUD  (b) Diaphragms

(iiiy Barrier method (c) Multiload 375
(ivy IVF&ET (d ICSI
(& LNG-20
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I.

PART -B
ZOOLOGY
(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes
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10.

11,

12

13.

14,

Some important standard symbols used in pedigree analysis is given below. Identify it.

@ ® @)
o [[FO o [[FO

Arrange the following female reproductive events in the correct order of their
occurance.

Fertilisation — Parturition — Gametogenesis — Gestation ~ Implantation

Thomas Hunt Morgan carried out several dihybrid crosses to study genes that were sex-
linked.

(a) Name the organism used by Morgan for his experiments.
(b) Point out any two advantages of selecting it as his experimental material.

“The presence or absence of hymen is not a reliable indicator of virginity or sexual
experience.” Do you agree with this statement ? Justify your answer.

If father has blood group ‘A’, Mother has blood group ‘B’ and their eldest child has
blood group ‘0’, then find out the following.

(a) The blood genotype of both parents,
(b) Possible blood group of other offsprings.

Redraw the diagram of the Mammalian sperm given below & label the following parts :

(a) Mitochondria (b) Acrﬁsome
(c) Middle piece {d) Nucleus
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15.

16.

17.

18.

19.

20.

Note the relationship between the first two terms and suggest a suitable term for the
fourth place.

(@ 44A +XXY : Klinefelter’s syndrome; 44A + XO :
(b) Haemophilia : Sex linked ; Sickle-cell anaemia :

A wide range of contraceptive methods are presently available to prevent unwanted
pregnancies.

(@ List out any two natural contraceptive methods.

(b) Point out one advantage and disadvantage of this method.

Answer any 3 questions from 17-20. Each carries 3 scores. 3x3=9
Observe the figures ‘I’ & ‘II’ given below showing the amino acid composition of the
relevant portion of B-chain of haemoglobin.

L (e
i G —(a)—

(@ Which one of the above chain shows abnormality ?
(b) Name the abnormality.
(c) Give the reason for this abnormality.

The result of a monohybrid cross did not resemble either of the two parents i‘n the F,
generation and was in between the two parental characters. If so,

(@ Name the type of Inheritance.

(b) Write an example for it.

(c¢) Give reason behind such inheritance.

(a) Expand STD.
(b) Name any two STDs.
(c) Suggest any two preventive measures for STDs.

Placenta acts as a structural and functional unit between developing foetus and maternal
body. Based on placenta, name the following :

(@) Any two hormones produced by human placenta.

(b) The finger-like projections which appear on the trophoblast after implantation.

(¢) The hormone secreted by Ovary in the later phase of pregnancy.

-SFE 26 ' 14



15.

16.

IIL

L

18.

20.

@By OTE Q108)EB ®edlenss  snimwe aMPe0a] Mmoeve  TuoImETITIGS

Dallmaow anes” Adegudlan)s,.

(@ 44A+XXY: Klinefelter’s syndrome; 44A + X0 -

(b) Haemophilia : Sex linked ; Sickle-cell anaemia :

@Rn1oflosl® wdeand s el worose nde afledowm 20Bpemd

Moo ey

(@) BOOBIEN e’ upedallensw  wdeailesowm 20BPTDROS  Casa’
Mafla floga,

®) ooy 20domieon sers emgan. Cx05A10 all®o MV}a g flos)e.

17 2yl 20 UHOW85 62193 eIl 0l agomanlen. 3 DIROID goMOnAR)) @,

n‘ﬂ(ﬂlaeﬂﬂas)gca,.

b O O—e—6—e—6

- (w) (e~ —Ca)—@

@ oegdo MWjaflaflajaicfiod agey Catoglenlaigaiar” RYeauRIDIE
@RALIWOBENo.

®) v seaises SeOad cainoam'?
© oD seaise: ST @006Mo agyamy'?

80} ol VB Gl F) oemooies’ 20Dy-aflany avavmaRo© WIOHDOD)

- Aflw avon@x). @IMTley. ag)slns —

@ oy @nﬁemrﬂgcrﬁmﬂa@ Gald )9 ).

®)  (ovoym g_anamnd}gnﬁcrmqfs;m; 230a00MO29) ).

©)  @ovmym DBnodgmdalas’ @onemo af)aoy,

(@ STD )es mg(ﬁsmcogmq AP,

(b) ~gom®ien. cae’STD BIOS G IO

© STD mswjanas FRUDIZD oere’ a0dpamiB dequdice)s.

NG wdsamun wiwim 20@y  wdloowimp  gswics *LISM0AIOR0W)o

aﬂ‘sgmsrwcomo@;o tatardorienam. DTOm  @ywoonoes 06w

ODMMAUDIOS SaloReioN ;

(a) afoaauad Qrusn_rorﬂ%pmgcm afiomeslens cosm“enmdemomagm.

(b) DogPeBats’ G0 CG(SoeanoenoMmiad BN SIMN aloenad
CalOLINNBR Blatsonid.

(c) udeaceionion  masvom "eIsoilod  @eemuovamo (roallafleammm
Gan0deaoemn3.

SFF 26 15



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

